N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} F (%] F [%]
X F - X F - X
8 of . & of 8
20°F S10°F s
F [ E Q
F 2 f ]
10*F 1 E
E I 310
10°F ereeere 10°
10°F predeeereads 10
E Y = I
10f -5-¥t:—tp-~:- :
I SERERE SRR 1% ERER R L m
o+ HmKET T Basenne oier
S DOM_mKkFit_TT_RetrainV2_WP1_¢
o 0 0 0 0 T ] 2
1 g m I
055=0-15-10 -5 0 5 10 15 20 25 095=50-15-10 5 0 5 10 15 20 25 095 =50-15-10 -5 0 5 10 15 20 25 095=20-15-10 =5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F 2 F g 2
8 of & of g 8
=10° =10° s =
() Q
g g0
10* 10* s
S 10
2
10° 10° 10
10? 10?
0 TP A EETTCETETITS TEPRITEETY I OO | S | S | £ O R
10 10
1
Ak : : : ] . 1
1 .I....I....I....I..{ . PN
o ] o i) o
I © < ©
o @ @ @
- *WHH -1 - 0.9 [ aREEER R BT -
03— 10010 20 30 °¥Pp 20 -10 0 10 20 30 %8520 -0 0 10 20 30 °¥Pp—20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


